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Current: 6+ Residents

Future: 4 Residents

Total Carbon Footprint

12.78 metric tons of CO2 per year

18.32 metric tons of CO2

Total Household Footprint

4.71 metric tons of CO2

3.33 metric tons of CO2

Total Transportation Footprint

3.07 metric tons of CO2

O metric tons of CO2

Total Travel Footprint

O metric tons of CO2

O metric tons of CO2

Reasons for the Differences:
The reason for the difference between my current and future self's total

footprintis that in college | am with a ton of people and | don't travel that
much as | walk to most of my classes which will lower the overall total

footprint. The reason for the difference between household footprints is that
my future house will use more solar energy than the school does. Then the

reason for the difference between transportation footprints is that in the

future | will be driving an electric car instead of the gas power car | use right

now. Lastly, there is no difference between the travel footprint because |
don’t fly that often and don't plan on it in the future.




